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INTERMEDIATE EXAMINATION – 2023 (ANNUAL) 

Model Set 

Computer Science 

I.A., I.Sc. & I.Com. – (OPT) 

Total no. of Questions : 70+20+6=96 
dqy iz’uksa dh la[;k % 70+20+6=96 

Instructions for the candidate :- 

1- ijh{kkFkhZ OMR mÙkj&i=d ij viuk iz’u iqfLrdk Øekad ¼10 vadksa dk ½ 

vo’; fy[ksaA  

Candidate must enter his/her Question Booklet serial No. (10 

Digits) in the OMR Answer Sheet. 

2- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give answer in their own words as far 

as practicable. 

3- nkfguh vksj gkf’k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

4- iz’uksa dks /;kuiwoZd i<+us ds fy, ijh{kkfFkZ;ksa dks 15 feuV dk vfrfjDr 

le; fn;k x;k gSA 

15 minutes of extra time has been allotted for the candidate to 

read the questions and follow the instructions carefully. 

5- ;g iz’u iqfLrdk nks [k.Mksa esa gS]   

Time :- 3 Hours 15 minutes 
le; % 3 ?kaVs 15 feuV 

Full Mark - 70 
iq.kkZad & 70 

Sub. Code - 328 
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This question paper is divided into two sections : Section-A  

and Section-B. 

6- [k.M&v esa 70 oLrqfu"B iz’u gSa] ftuesa ls fdUgha 35 iz’uksa dk mÙkj nsuk 

vfuok;Z gSA 35 iz’uksa ls vf/kd mÙkj nsus ij izFke 35 mÙkj dk gh ewY;kadu 

gksxkA izR;sd ds fy, 1 vad fu/kkZfjr gSA budk mÙkj nsus ds fy, miyC/k 

djk;s x;s OMR&mÙkj i=d esa fn;s x;s lgh fodYi dks dkys@uhys ckWy 

isu ls izxk<+ djsaA fdlh Hkh izdkj ds OgkbVuj@rjy inkFkZ@CysM@uk[kwu 

vkfn OMR mŸkj i=d esa iz;ksx djuk euk gS] vU;Fkk ijh{kk ifj.kke vekU; 

gksxkA 

In Section-A, there are 70 objective type questions, out of which 

any 35 questions are to be answered. If more than 35 Questions 

are answered, then only first 35 will be evaluated. Each carrying 

1 mark. Darken the circle with black/blue ball pen against the 

correct option on OMR Answer Sheet provided to you. Do not 

use Whitener/Liquid/Blade/Nail etc. on OMR Answer Sheet, 

otherwise the result will be invalid. 

7- [k.M&c esa 20 y?kqmÙkjh; iz’u gSaA izR;sd ds fy, 2 vad fu/kkZfjr gS] ftuesa 

ls fdUgha 10 iz’uksa dk mÙkj nsuk vfuok;Z gSA blds vfrfjDr bl [k.M esa 6 

nh?kZ mŸkjh; iz’u fn;s x;s gSaA izR;sd ds fy, 5 vad fu/kkZfjr gSa] ftuesa ls 

fdUgha 3 iz’uksa dk mŸkj nsuk vfuok;Z gSA  
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In Section-B, there are 20 Short answer type questions, each 

carrying 2 marks, out of which any 10 questions are to be 

answered. Apart from this, there are 6 Long Answer Type 

Questions, each carrying 5 marks, out of which any three 

Questions are to be Answered.  

8- fdlh rjg ds bysDVªkWfud midj.k dk iz;ksx iw.kZr;k oftZr gSA 

Use of any electronic appliances is strictly prohibited. 

/ SECTION-A 

/Objective Type Questions. 

iz'u la[;k 1 ls 70 rd ds izR;sd iz’u ds lkFk pkj fodYi fn, x;s gSa] ftuesa ls ,d 

lgh gSA vius }kjk pqus x, lgh fodYi dks OMR&’khV ij fpfàr djsaA fdUgha  35 

iz’uksa dk mŸkj nsaA         35x1=35 

Question No.- 1 to 70 have four options, out of which only one is correct 

you have to mark your selected option, on the OMR-Sheet. Answer any 35 

questions.           35x1=35 

1- LVSd dks -------------- Hkh dgk tkrk gSA 

 (A) yhQks     (B) fQyks 

 (C) yhyks     (D) QhQks 

 Stack is also called as – 

 (A) LIFO     (B) FILO 

 (C) LILO     (D) FIFO 
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2- Putch() ,d ……… gS 

 (A) buiqV QaD’ku    (B) vkmViqV QaD’ku 

 (C) pj     (D) MsVk izdkj 

 Putch() is a/an ……… 

 (A) Input Function   (B) Output Function 

 (C) Variable    (D) data type 

3- Long ,d ……… gSA 

 (A) QaD’ku     (B) vkWijsVj 

 (C) fLFkj     (D) MsVk izdkj 

 Long is a/an ……… 

 (A) Function    (B) Operator 

 (C) Constant    (D) data type 

4- conio.h ,d ……… gSA 

 (A) MsVk Qkby    (B) gsMj Qkby 

 (C) fyadj     (D) izksxzke CykWd 

 conio.h is a/an ……… 

 (A) data file     (B) header file 

 (C) linker     (D) program block 

5- ukV uy ,d ……… gSA 

 (A) Dosjh     (B) fo’ks"krk izdkj 

 (C) ck/kk     (D) rkfdZd vkWijsVj 
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 NOT NULL is a/an ……… 

 (A) Query     (B) attribute type 

 (C) constraint    (D) Logical operator 

6- tc LVSd Hkjk ugha gksrk gs rks fdlh oLrq dks LVSd esa Mkyus dks ……… dgk 

tkrk gSA tc LVSd [kkyh ugha gksrk gS rks vkbVe ds lapkyu vkSj foyksiu dks 

LVSd dk ……… vkWijs’ku dgk tkrk gSA 

 (A) ikWi] iq’k     (B) iq’k] ikWi 

 (C) Mkysa] gVk,a    (D) gVk,a] Mkysa 

 Inserting an item into the stack when it is not full is called ……… 

operation and deletion of item form the stack, when stack is not 

empty is called ……… operation. 

 (A) pop, push    (B) push, pop 

 (C) insert, delete    (D) delete, insert 

7- ……… ,d <sj gS ftlesa ,d Nksj ij oLrqvksa dks tksM+k tkrk gS vkSj nwljs ls 

gVk fn;k tkrk gSA 

 (A) drkj     (B) LVSd 

 (C) lwph     (D) Qkby 

 ……… is pile in which items are added at one end and removed 

from the other. 

 (A) queue     (B) stack 

 (C) List     (D) File 
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8- MsVkcsl ls vfrfjDr dks gVkus dk vFkZ gS \ 

 (A) la{ksi     (B) mUewyu 

 (C) fNikuk     (D) dkfLVax 

 Removing redundancies from database means ? 

 (A) summarization   (B) elimination 

 (C) hiding     (D) casting 

9- dkSu lh xSj izfØ;kRed Hkk"kk gS \ 

 (A) lh      (B) ,lD;w,y 

 (C) tkok     (D) lh$$ 

 Which one is non procedural language ? 

 (A) C      (B) SQL 

 (C) Java     (D) C++ 

10- ……… 'kCn dk vFkZ gS dbZ :Ik ysus dh {kerkA 

 (A) fojklr     (B) cgq:irk 

 (C) lnL; lekjksg    (D) encapsulation 

 The term ……… means the ability to take many forms. 

 (A) Inheritance    (B) polymorphism 

 (C) member function   (D) encapsulation 

11- rkfdZd tksM+ ……… vkWijsVj }kjk fd;k tkrk gSA 

 (A) vkSj     (B) uksj 

 (C) ;k      (D) $$ 
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 Logical addition is done by ……… operator. 

 (A) AND     (B) NOR 

 (C) OR     (D) ++ 

12- n’keyo la[;k iz.kkyh dk vk/kkj gS \ 

 (A) 10     (B) 8 

 (C) 2      (D) 16 

 Base of decimal number system is ? 

 (A) 10     (B) 8 

 (C) 2      (D) 16 

13- cwfy;u chtxf.kr dks ……… Hkh dgk tkrk gS \ 

 (A) chtxf.kr fLofpax   (B) vadxf.kr chtxf.kr 

 (C) jSf[kd chtxf.kr   (D) chtxf.kr 

 Boolena algebra is also called ……… ? 

 (A) Switching Algebra   (B) Arithmetical Algebra 

 (C) Linear Algebra   (D) Algebra 

14- dkSu lk ,d bZuVhVh ugha gS \ 

 (A) NkUu     (B) f’k{kd 

 (C) 'kqYd     (D) 'kkSd 

 Which one is not an entity ? 

 (A) Student     (B) teacher 

 (C) fee     (D) hobby 
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15- fuEufyf[kr esa ls dkSu lk dekaM Vscy dks fMyhV djus ds fy, iz;ksx fd;k 

tkrk gS \ 

 (A) gVk,a     (B) feVk,a 

 (C) fudkysa     (D) MªkWi 

 Which of the following SQL command used to delete table ? 

 (A) DELETE    (B) ERASE 

 (C) REMOVE    (D) DROP 

16- fuEufyf[kr esa ls dkSu lk ,fIyds’ku baVjusV ij pyrk gSA 

 (A) fVdV cqfdax    (B) VSyh 

 (C) Ldwy ifj.kke izlaLdj.k  (D) ,Dlsy 

 Which of the following application runs on internet. 

 (A) Ticket booking   (B) Tally 

 (C) School result processing  (D) EXCEL 

17- vkbZih dk eryc gSA  

 (A) baVjusV izksVksdkWy   (B) MC;Y;w MC;Y;w MC;Y;w 

 (C) baVªkusV     (D) baVjusV iksLV 

 IP stands for ……… 

 (A) Internet protocol   (B) WWW 

 (C) Internet     (D) Internet post 

18- daI;wVj usVodZ ……… gSA 

 (A) baVjdusD’ku    (B) 'ks;fjax 
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 (C) lapkj     (D) mijksDr lHkh 

 Computer network is a/an ……… 

 (A) interconnection   (B) sharing 

 (C) communication   (D) All of the above 

19- eq[; ¼½ ……… gS \ 

 (A) CykWd uke    (B) lekjksg 

 (C) QaD’ku uke    (D) MsVk uke 

 main() is ……… ? 

 (A) block name    (B) Function  

 (C) Function name   (D) data name 

20- ;fn esjh d{kk vkidh d{kk dk fe= gS] rks dkSu lk lR; gS \ 

 (A) vkidh d{kk esjh d{kk dk fe= gS  

(B) vkidh d{kk esjh d{kk dk fe= ugha gS 

(C) vkidh d{kk esjh d{kk ls fe= gks ldrh gS 

(D) vkidh d{kk esjh d{kk dh fe= gks ldrh gS ;k ugha 

If My class is a friend of your-class, which is true ? 

(A) Your class is a friend of My Class. 

(B) Your class is not a friend of My Class. 

(C) Your class cannot be a friend of My Class. 

(D) Your class may be or not a friend of My Class. 

21- ,d d{kk ……… A 
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 (A) nksLr ugha gS     

(B) ,d nksLr gS 

 (C) nksLrksa dh la[;k gS    

(D) ,d nksLr lekjksg gS vkSj ,d nksLr oxZ gS 

A class may ……… 

(A) not have friend 

(B) have one friend 

(C) have any number of friends  

(D) have one friend function and one friend class 

22- MsVk fNikus dk mi;ksx ………. cukus ds fy, fd;k tkrk gS\ 

 (A) buykbu QaD’ku    (B) futh oxZ ds lnL; 

 (C) xSj vfn’k izdkj    (D) xqIr dksM 

 Data hiding is use to create ………. 

 (A) inline function   (B) private class members 

 (C) non scalar type   (D) cryptic code 

23- fuEufyf[kr esa ls dkSu lk vkWijsVj vksojyksM gks ldrk gS \ 

 (A) -lnL;     (B) %% ¼Ldksi fjtkWY;w’ku½ 

 (C) %¼ekikad½    (D) \%¼l’krZ½ 

 Which of the following operations may be overloaded ? 

 (A) .member    (B) ::(scope resolution) 

 (C) %(modulus)    (D) ?:(conditional) 
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24- fuEufyf[kr esa ls fdls ,d vkWijsVj ds :Ik esa vksojyksM fd;k tk ldrk gS \ 

 (A) vkWijsVj*()    (B) *vkWijsVj() 

 (C) vksih*()     (D) *vksih() 

 Which of the following may be overload as an operator ? 

 (A) Operator*()    (B) *Operator() 

 (C) Op* ()     (D) *Op() 

25- fuEufyf[kr esa ls dkSu pfj= izdkjksa ds lewg ls lacaf/kr gS \ 

 (A) Char     (B) Wchar_t 

 (C) dsoy ,     (D) nksuksa (A) vkSj c- 

 Which of the following belongs to the set of character types ? 

 (A) Char     (B) Wchar_t 

 (C) only a     (D) both a & b 

26- fuEufyf[kr dFku dk D;k vFkZ gS \ 

 baV¼*,Qih½¼Char*½ 

 (A) lwpd dks lwpd     

(B) lwpd dks Char dh ,d lj.kh ds fy, lwpd 

(C) ikWbaVj ,d char* rdZ ysrs gq, dk;Z djus ds fy, vkSj ,d int nsrk gS 

 (D) ,d char* rdZ ysrs gq, dk;Z djs vkSj ,d lwpd dks int ij okil dj nsaA 

 What does the following statement mean ? 

 Int(*fp)(char*) 

 (A) Pointer to pointer    
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(B) Pointer to an array of char 

(C) Pointer to function taking a char* argument and returns an int. 

(D) Function taking a char* argument and returning a pointer to int. 

27- fuEufyf[kr esa ls dkSu voS/k gS \ 

 (A) baV*vkbZih(    (B) fLVªax ,l] *,lih¾0( 

 (C) baV*ihvkbZ¾0(    (D) baV i(Mcy*Mhih¾&i( 

 Which of the following is illegal ? 

 (A) int*ip:;     (B) string S,*sp=0; 

 (C) int*pi=0;    (D) int i;double*dp=&i; 

28- fLFkjkad dks ……… Hkh dgk tkrk gSA 

 (A) dk¡LV     (B) izhizkslslj 

 (C) v{kj     (D) mijksDr esa ls dksbZ ugha 

 The constants are also called as ……… 

 (A) const     (B) preprocessor  

 (C) Literals     (D) none of above 

29- fuEufyf[kr esa ls dkSu lgh <ax ls ,d lj.kh ?kksf"kr djrk gS \ 

 (A) baV lj.kh [10];    (B) Char lj.kh [10] 

 (C) baV lj.kh ;    (D) lj.kh {10}; 

 Which of the following correctly declares an array ? 

 (A) int array[10];    (B) char Array[10] 

 (C) int array ;    (D) Array {10}; 
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30- 9 rRoksa okyh fdlh lj.kh ds vafre rRo dh vuqØef.kdk la[;k D;k gS \ 

 (A) 9      (B) 0 

 (C) 8      (D) izksxzkej ifjHkkf"kr 

 What is the index number of the Last element of an array with 9 

elements ? 

 (A) 9      (B) 0 

 (C) 8       (D) Programmer define 

31- fuEufyf[kr esa ls dkSu lj.kh esa laxzghr lkrosa rRo rd igq¡prk gS \  

 (A) lj.kh [6];    (B) lj.kh [7]; 

 (C) lj.kh (6);    (D) lj.kh ; 

 Which of the following accesses the seventh element stored in 

array? 

 (A) array[6];    (B) array[7]; 

 (C) array(6);    (D) array; 

32- fuEufyf[kr esa ls dkSu lj.kh esa igys rRo dk eseksjh ,Mªsl nsrk gS \ 

 (A) lj.kh [0];    (B) lj.kh [1]; 

 (C) lj.kh [2];    (D) lj.kh  

  Which of the following gives the memory address of the first element 

in array ? 

 (A) array[0];    (B) array[1]; 

 (C) array[2];    (D) array 
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33- ,d rkfydk esa ,d ……… ewY;ksa ds ,d lewg ds chp laca/k dk izfrfuf/kRo 

djrk gSA  

 (A) dkWye     (B) iafDr 

 (C) dqath     (D) izkFkfed dqath 

 A ……… in a table represents a relationship among a set of values. 

 (A) column     (B) row 

 (C) key     (D) Primary key 

34- ……… 'kCn dk iz;ksx ,d iafDr dks lanfHkZr djus ds fy, fd;k tkrk gSA 

 (A) fo’ks"krk     (B) Viy 

 (C) mnkgj.k     (D) QhYM 

 The term ……… is used to refer to a row. 

 (A) Attribute    (B) Tuple 

 (C) instance    (D) Field 

35- ,fVªC;wV 'kCn dk rkfydk ds ……… dks lanfHkZr djrk gSA 

 (A) dkWye     (B) dqath 

 (C) fjdkWMZ     (D) Viy 

 The term attribute refers to a ……… of a table. 

 (A) column     (B) key 

 (C) record     (D) tuple 

36- ……… izksxzke esa =qfV;ksa dk irk yxkus vkSj mUgsa gVkus dh izfØ;k dks lanfHkZr 

djrk gSA 
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 (A) fo’ys"k.k     (B) lq/kkj 

 (C) fMcfxax     (D) fu"iknu 

 ……… refers to the process of locating and removing the errors in 

program. 

 (A) Analyzing    (B) correcting 

 (C) debugging    (D) Executing 

37- ,d lwpd ………  gSA 

 (A) ,d pj dk irk     

(B) pj dk ,d ladsr vxys rd igq¡pk tk ldrk gS 

(C) irs laxzghr djus ds fy, ,d pj 

(D) ,d irk pj dk MsVk izdkj 

A pointer is ……… 

(A) The address of a variable 

(B) An indication of the variable to be accessed next 

(C) A variable for storing addresses 

(D) The data type of an address variable 

38- QaD’ku dk uke ……… ls lekIr gksrk gSA 

 (A) Mcy dksV~l    (B) flaxy dksV~l 

 (C) dks"Bd     (D) # 

 The name of a function ends with ……… 

 (A) Double quotes   (B) Single quotes 
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 (C) Parenthesis    (D) # 

39- fuEufyf[kr esa ls dkSu H v{kj dks izkjafHkd uke ds dSjsDVj osfj,cy esa LVksj 

djsxk\ 

 (A) izkjafHkd ¾ ^,p*    (B) izkjafHkd¾^,p*( 

 (C) izkjafHkd¾^^,p**    (D) izkjafHkd¾^^,p**( 

 Which of the following will store the letter H in character variable 

named initial ? 

 (A) initial= ‘H’    (B) initial= ‘H’; 

 (C) initial= “H”    (D) initial= “H”; 

40- LVsVesaV VsEIysV <Dykl Vh> esa] T D;k gS \ 

 (A) Vh ,d oxZ gS    (B) Vh ,d vfn’k pj gS 

 (C) ;k rks (A) ;k c-   (D) u rks (A) vkSj u gh c- 

 In the statement template <class T>, what is T ? 

 (A) T is a class    (B) T is a scalar variable 

 (C) Either (A) or (B)   (D) Neither (A) nor (B) 

41- og fo’ks"krk tks oLrq ds vk/kkj ij leku lapkyu dks vyx&vyx rjhds ls djus 

dh vuqefr nsrh gS] ……… gSA 

 (A) cgq:irk     (B) cgqfookg 

 (C) fojklr     (D) eYVhVkfLdax 

 The feature that allows the same operations to be carried out 

differently depending on the object is ……… 
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 (A) Polymorphism   (B) Polygamy 

 (C) Inheritance    (D) Multitasking 

42- MsVk fy[kus ds fy, ftlesa ¶yksV izdkj ds pj gksrs gSa] LVªhe ds izdkj dh oLrq ds 

fy,] vkidks mi;ksx djuk pkfg,A 

 (A) lfEeyu vkWijsVj   (C) seellg¼½ 

 (C) fy[ksaD;w     (D) put¼½ 

 To write data that contains variables of type float, to an object of type 

of stream, you should use. 

 (A) The insertion operator  (B) seellg() 

 (C) WriteQ     (D) put() 

43- ;fn vki nks oLrqvksa dks xzkgd ds :Ik esa /kksf"kr djrs gSa] rks igyk xzkgd] nwljk 

xzkgd( fuEufyf[kr esa ls dkSu lk lR; gksuk pkfg, \ 

 (A) izR;sd oLrq fdlh Hkh fLFkj lnL; MsVk dh ,d vyx izfr laxzghr djsxh 

 (B) izR;sd oLrq fdlh Hkh lnL; dk;ksZa dh ,d vyx izfr laxzghr djsxh 

 (C) izR;sd oLrq fdlh Hkh xSj&fLFkj MsVk lnL;ksa dh ,d vyx izfr laxzghr 

djsxh 

 (D) vki ,d gh oxZ dh nks oLrqvksa dh /kks"k.kk ugha dj ldrs 

 If you declare two objects as customer first cust, second cust; which 

of the following must be true ? 

 (A) Each object will store a separate copy of any static member data 

 (B) Each object will store a separate copy of any member function 
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 (C) Each object will store a separate copy of any non static data 

members 

 (D) You cannot declare two objects of the same class 

44- oa’kkuqØe fl)kar gS fd ………A 

 (A) ,d gh uke okys oxZ ,d nwljs ls O;qRiUu gksus pkfg, 

 (B) ,d lkekU; Js.kh dk Kku vf/kd fof’k"V oLrqvksa ij ykxw fd;k tk ldrk gS 

 (C) lh$$ QaD’kal dk mi;ksx dsoy rHkh fd;k tk ldrk gS tc muds ikl 

rkfdZd iwoZorhZ gksa 

 (D) ,d QaD’ku uke fofHkUu rjhdksa dk vkg~oku dj ldrk gS 

 In heritance is the principle that ……… 

 (A) Classes with the same name must to be derived from one 

another 

(B) Knowledge of a general category can be applied to more specific 

objects 

(C) C++ functions may be used only if they have logical 

predecessors 

(D) One function name may invoke different methods 

45- izksxzkej&ifjHkkf"kr dk;Z gks ldrs gSa ………A 

 (A) dsoy ewY; okilh dk;Z   (B) dsoy 'kwU; dk;Z 

 (C) ;k rks ewY; okilh ;k 'kwU; dk;Z (D) buesa ls dksbZ ugha 

 Programmer – defined functions can be ……… 
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 (A) Value-returning functions only  

(B) Void functions only 

 (C) Either value-returning or void functions 

 (D) None of these 

46- ,d QaD’ku ftls gj ckj fdlh vkWCtsDV ds cuus ij Lopkfyr :Ik ls dkWy fd;k 

tkrk gS] og gS ,d ………A 

 (A) daLVªDVj     (B) Bsdsnkj 

 (C) fcYMj     (D) okLrqdkj 

 A function that is called automatically each time an object is created 

is a(n) ……… 

 (A) Constructor    (B) Contractor 

 (C) Builder     (D) Architect 

47- ;fn vki QaD’ku izksVksVkbi dh iSjkehVj lwph esa fdlh Hkh pj ds fy, ,d 

fMQkWYV eku fufnZ"V djrs gSa] rks ……… 

 (A) QaD’ku izksVksVkbi esa vU; lHkh ekin.Mksa esa fMQkWYV eku gksuk pkfg, 

 (B) ml pj ds nkbZa vksj lHkh iSjkehVj esa fMQkWYV eku gksuk pkfg, 

 (C) ml pj ds ckbZa vksj lHkh iSjkehVj esa fMQkWYV eku gksuk pkfg, 

 (D) ml izksVksVkbi esa fdlh vU; iSjkehVj esa fMQkWYV eku ugha gks ldrs 

 If you assign a default value of any variable in a function prototype’s 

parameter list, then ……… 
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 (A) All other parameters in the function prototype must have default 

values. 

 (B) All parameter to the right of the variable must have default values 

 (C) All parameters to the left of that variable must have default 

values. 

 (D) No other parameters in that prototype can have default values. 

48- ,d QaD’ku ftls gj ckj fdlh oLrq ds u"V gksus ij Lopkfyr :Ik ls vkg~okgu 

fd;k tkrk gS] og gS ,d ………A 

 (A) daLVªDVj     (B) Destructor 

 (C) Destroyer    (D) VfeZusVj 

 A function that is called automatically each time an object is 

destroyed is a  

 (A) constructor    (B) Destructor 

 (C) Destroyer    (D) Terminator 

49- Cv{kj dks LVksj djus okys osfj,cy ds fy, lcls dq’ky MsVk izdkj ……… 

MsVk izdkj gSA 

 (A) Character     (B) Mcy 

 (C) ¶yksV     (D) yach iw.kkZad 

 The most efficient data type for a variable that stores the letter C is 

the ……… data type. 

 (A) Character    (B) Double 
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 (C) Float     (D) Long Integer 

50- ;fn vki dbZ vyx&vyx dk;ZØeksa esa oLrqvksa dks ifjHkkf"kr djus ds fy, ,d 

oxZ dk mi;ksx djuk pkgrs gSa] rks vkidks ifjHkkf"kr djuk pkfg,  

C++ ……… Qkby esaA 

(A) gSMj     (B) dk;ZØe 

(C) lzksr     (D) ikB 

If you want to use a class to define objects in many different 

programs, you should define the class in a C++ ……… file. 

(A) Header     (B) Program 

(C) Source     (D) Text 

51- ,d iw.kZ xzkQ ls vf/kdre ………  fdukjksa dks gVkdj] ge ,d QSys gq, isM+ dk 

fuekZ.k dj ldrs gSA 

 (A) bZ&,u$1     (B) ,u&bZ$1 

 (C) ,u$bZ&1     (D) bZ&,u&1 

 From a complete graph, by removing maximum ……… edges, we 

can construct a spanning tree. 

 (A) e-n+1     (B) n-e+1 

 (C) n+e-1     (D) e-n-1 

52- izkstsDV 'ksM~;wfyax ,d mnkgj.k gSA 

 (A) ykyph izksxzkfeax    (B) xfr’khy izksxzkfeax 

 (C) QwV Mkyks vkSj thrks   (D) mijksDr esa ls dksbZ ugha 
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 Project Scheduling is an example of  

 (A) greedy programming  (B) dynamic programming 

 (C) divide and conquer   (D) non of he above 

53- lh$$ Hkk"kk esa ,d lj.kh dSls 'kq: dh tkrh gS \ 

 (A) baV , [3] = {1,2,3};    (B) baV , ={1,2,3}; 

 (C) baV , [ ]= u;k baV int [3]  (D) baV , (3) = [1,2,3] 

 How is an array initialized in C++ Language ? 

 (A) int a[3] = {1,2,3};   (B) int a={1,2,3}; 

 (C) int a[ ]=new int [3]   (D) int a(3) = [1,2,3] 

54- fuEufyf[kr esa ls dkSu ,d jSf[kd MsVk lajpuk gS \ 

 (A) lj.kh     (B) ,oh,y isM+ 

 (C) ckbujh isM+    (D) js[kkadu 

 Which of the following is a liner data structure ? 

 (A) Array     (B) AVL Trees 

 (C) Binary Trees    (D) Graphs 

55- ikWbaVj uksVs’ku ds vk/kkj ij fdlh ,sjs esa nwljk ,fyesaV dSls ,Dlsls fd;k tkrk 

gS\ 

 (A) *,$2     (B) *¼,$2½ 

 (C) *¼*,$2½     (D) &¼,$2½ 

 How is the 2nd element in an array accessed based on pointer 

notation ? 
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 (A) *a+2     (B) *(a+2) 

 (C) *(*a+2)     (D) &(a+2) 

56- fuEu esa ls dkSu lh drkj dk izdkj ugha gS \ 

 (A) izkFkfedrk drkj   (B) flaxy&,aMsM drkj 

 (C) o`Ùkkdkj drkj    (D) lk/kkj.k drkj 

 Which of the following is not the type of queue ? 

 (A) Priority queue   (B) Single-ended queue 

 (C) Circular queue   (D) ordinary queue 

57- fuEufyf[kr esa ls dkSu lk MsVk lajpuk dk lapkyu ugha gS \ 

 (A) lapkyu tks fdlh rjg ls MsVk esa gsjQsj djrs gSa 

 (B) lapkyu tks x.kuk djrs gSa 

 (C) lapkyu tks flaVSDl =qfV;ksa dh tk¡p djrs gSa 

 (D) lapkyu tks ,d fu;af=r ?kVuk dh ?kVuk ds fy, fdlh oLrq dh fuxjkuh 

djrs gSa 

 From following which is not the operation of data structure ? 

 (A) operations that manipulate data in some way 

 (B) operations that perform a computation 

 (C) operations that check for syntax errors 

 (D) operations that monitor an object for the occurrence of a 

controlling event. 

58- lh$$ esa Le`fr es fLVªax dk izfrfu/kRo dSls fd;k tkrk gS \ 
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 (A) o.kksZa dh ,d lj.kh   (B) fdlh oxZ dh oLrq 

 (C) vU; vkfne MsVk izdkjksa ds leku (D) ik=ksa dh fyaDMfyLV 

How are string represented in memory in C++ ? 

(A) An array of characters   

(B) The object of some class 

(C) Same as other primitive data types 

(D) Linked list of characters 

59- SQL esa] Vscy dh LVksjst fo’ks"krkvksa dks cnyus ds fy, fdl dekaM dk mi;ksx 

fd;k tkrk gS \ 

 (A) oSdfYid rkfydk   (B) la’kksf/kr rkfydk 

 (C) ifjorZu rkfydk    (D) mijksDr lHkh 

 In SQL, which command(s) is (are) used to change a table’s storage 

characteristics ? 

 (A) ALTER TABLE   (B) MODIFY TABLE 

 (C) CHANGE TABLE   (D) All of the above 

60- SQL esa] fuEu esa ls dkSu MsVk ifjHkk"kk Hkk"kk dekaM ugha gS \ 

 (A) uke cnyssa    (B) fujLr djsa 

 (C) vuqnku     (D) viMsV 

 In SQL, which of the following is not a data definition language 

commands ? 

 (A) RENAME    (B) REVOKE 
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 (C) GRANT    (D) UPDATE 

61- SQL esa] fdl dekaM dk mi;ksx MqIyhdsV iafDr;ksa ds izR;sd lsV dh dsoy ,d 

izfr dk p;u djus ds fy, fd;k tkrk gSA 

 (A) vyx pqusa    (B) vn~fofr; pqusa 

 (C) fHkUu pqusa     (D) mijksDr lHkh 

 In SQL, which command is used to SELECT only one copy of each 

set of duplicable rows . 

 (A) SLECT DISTINCT   (B) SELECT UNIQUE 

 (C) SELECT DIFFERENCE  (D) All of the above 

62- ,d dekaM tks vkidks ,d fjdkWMZ esa ,d ;k ,d ls vf/kd QhYM cnyus dh 

lqfo/kk nsrk gSA 

 (A) lfEefyr djsa    (B) la’kksf/kr 

 (C) yqd&vi     (D) mijksDr lHkh 

 A command that lets you change one or more fields in a record is  

 (A) Insert     (B) Modify 

 (C) Look-up    (D) All of the above 

63- ,¼ch$lh½ ¾ ,ch$,lh( ,$chlh¾¼,$ch½¼,$lh½ fdu dkuwuksa dk izfrfuf/kRo djrk 

gS \ 

 (A) fofues;     (B) tksM+usokyk 

 (C) foHkkftr djus okyk   (D) csodwQh 

 A(B+C) = AB+AC; A+BC=(A+B)(A+C) represent which Laws ? 
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 (A) Commutative    (B) Associative 

 (C) Distributive    (D) Idempotence 

64- ,$,ch ¾ ,( ,¼,$ch½¾, fdu dkuwuksa dk izfrfuf/kRo djrk gS \ 

 (A) csodwQh     (B) vo’kks"k.k 

 (C) tksM+usokyk    (D) fofues; 

 A+AB=A; A(A+B)=A represent which laws ? 

 (A) Idempotence    (B) Absorption 

 (C) Associative    (D) Commutative 

65- AB+𝐴C = (A+C)+(𝐴+B), AB+A𝐶=(A+C)+(𝐴+B) fdl izes; dk izfrfuf/kRo 

djrk gS ………A 

 (A) vke lgefr    (B) LFkkukarj.k 

 (C) Mh ekWxZu     (D) 'kkfey dkjd 

 AB+𝐴C = (A+C)+(𝐴+B), AB+A𝐶=(A+C)+(𝐴+B) represents which 

theorem ……… 

 (A) Consensus    (B) Transposition 

 (C) De Morgan    (D) Included Factor 

66- rdZ O;atd F=AB+𝐵C+AC, F = AB+B𝐶+AC esa gS ……… 

(A) ,lvksih QkWeZ    (B) ihvks,l QkeZ  

(C) ekud ,lvksih QkWeZ   (D) ekud ihvksl QkWeZ 

The logic expression F=AB+𝐵C+AC, F = AB+B𝐶+AC is an ………  

(A) SOP form    (B) POS form 
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(C) Standard SOP form  (D) Standard POS form 

67- OSI vkfdZVsDpj esa HkkSfrd ijr MsVk dks ……… ds :Ik esa LFkkukarfjr djrk gSA

 (A) fcV~l     (B) ckbV~l 

 (C) (A) vkSj (B) nksuksa   (D) buesa ls dksbZ Hkh ugha 

 The physical layer in an OSI architecture transfers the data in the 

form of ……… 

 (A) Bits     (B) Bytes 

 (C) Both (A) and (B)   (D) None of the above 

68- OSI ekWMy vkfdZVsDpj esa dkSu lh ys;j ,jj Ýh ÝsEl dks VªkalfeV djrh gS \ 

 (A) Physical Layer   (B) lwpuk J̀a[kyk ry 

 (C) usVodZ ijr    (D) VªkaliksVZ ijr 

 In an OSI model architecture which layer transmits the error-free 

frames ? 

 (A) Physical Layer   (B) Datalink Layer 

 (C) Network Layer   (D) Transport Layer 

69- OSI ekWMy vkfdZVsDpj esa] iSdsV ……… ijr esa cuk, tk,axs  

 (A) fQftdy ijr    (B) lwpuk Ja[kyk ry 

 (C) usVodZ ijr    (D) VªkaliksVZ ijr 

 In an ISO model architecture, the packets will be created in ……… 

layer. 

 (A) Physical Layer   (B) Datalink Layer 
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 (C) Network Layer   (D) Transport Layer

70- OSI ekWMy vkfdZVsDpj esa ………  ijr l=ksa dks LFkkfir vkSj lekIr djrh gSA 

 (A) l= ijr     (B) lwpuk J̀[kyk ry 

 (C) usVodZ ijr    (D) VªkaliksVZ ijr 

 In an OSI model architecture ……… Layer establish and Terminates 

the sessions. 

 (A) Session Layer   (B) Datalink Layer 

 (C) Network Layer   (D) Transport Layer 

Section-B  

Short Answer Type Questions

iz’u la[;k 1 ls 20 rd y?kq mÙkjh; gSaA fdUgha 10 iz’uksa ds mÙkj nsaA izR;sd ds fy, 2 

vad fu/kkZfjr gSaA  

Question no. 1 to 20 are Short answer type. Answer any 10 questions. 

Each question carries 2 marks.  

1. fdlh oxZ ds lnL; dk;Z dks ifjHkkf"kr djsaaA 

Define member function of a class. 

2. MsVk Qkby D;k gS \ 

What is data file ? 

3. vuqØfed Qkby ,Dlsl eksM dks ifjHkkf"kr djsaA 

Define sequential file access mode. 
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4. iksLVfQDl :ikarj.k dh O;k[;k djsaA 

Explain POSTFIX conversion. 

5. cgq:irk dks le>kb,A  

Explain polymorphism. 

6. d{kk dk fMQkWYV n`’;rk eksM D;k gSA  

What is default visibility mode of class. 

7. lanHkkZRed v[kaMrk dh O;k[;k djsaA  

Explain referential integrity. 

8. daI;wVj usVodZ ds fdlh ,d vuqiz;ksx dh O;k[;k djsaA  

Explain any one application of Computer Network. 

9. okW;l mail D;k gS \ 

What is voice mail ? 

10. ykWftd xsV D;k gS \ 

What is Logic gate ? 

11. n~oSr dh O;k[;k dhft,A 

Explain duality. 

12. viokn gSaMfyax D;k gS \ 

What is exception handling ? 

13. C++ ds ÝsaM QaD’ku dks le>kb,A 

Explain friend function of C++ 
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14. Mhch,e,l esa esVk MsVk D;k gS \ 

What is meta data in DBMS ? 

15. ,d fLFkj pj D;k gS \ 

What is a static variable? 

16. ?kks"k.kk vkSj ,d pj dh ifjHkk"kk ds chp varjA 

Difference between Declaration and Definition of a variable. 

17. ,d pj ds LFkkuh; vkSj oSf’od nk;js ij fVIi.kh djsaA 

Comment on Local and Global Scope of a variable. 

18. ,d ,sjs fyaDM fyLV ls dSls vyx gS\ 

How is an Array different from Linked List ? 

19. ,d Vscy D;k gS \ 

What is a table ? 

20. ,d uksM D;k gS \ 

What is a Node ? 

Long Answer Type Questions

iz’u la[;k 21 ls 26 rd nh?kZ mÙkjh; gSaA fdUgha 3 iz’uksa ds mÙkj nsaA izR;sd ds fy, 5 

vad fu/kkZfjr gSaA  

Question nos. 21 to 26 are Long answer type. Answer any 3 questions. 

Each question carries 5 marks.  
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21. C++ esa ,d izksxzke fy[ksa] ftlesa ,d oxZ deZpkjh ?kksf"kr fd;k tk,] ftlesa MsVk 

lnL; emp_no vkSj emp_name lnL; dk;ksZa dks Lohdkj djsaA Lohdkj djus 

ds fy, accept¼½ dk QaDlu fy[ksa vkSj iznf’kZr djus ds fy, Display¼½ QaD’ku 

fy[ksa] 5 deZpkfj;ksa ds fy,A 

Write a program in C++ to declare a class ‘employee’, consisting of 

data members emp_no, and emp_name. Write the member 

functions accept () to accept the data. Display() to display the data 

for 5 employees. 

22. nh xbZ iw.kkZad la[;kvksa rd dh la[;k dk /ku iznf’kZr djus ds fy, C++  esa 

,d izksxzke fy[ksaA 

Write a program in C++ to display the cube of the number upto given 

integer numbers. 

23. fdlh fn;s x, iw.kkZad la[;k dh xq.ku rkfydk iznf’kZr djus ds fy, C++  esa 

,d izksxzke fy[ksaA 

Write a program in C++ to display the multiplication table of 

a given integer number. 

24. operator over loading dk mi;ksx djds fLVªax dh yackbZ [kkstus ds fy, 

C++ esa izksxzke fy[ksaA 

Write a program in C++ to find the length of a string using 

operator overloading. 

25. d{kk vkSj oLrq dk mi;ksx djds Nk=ksa ds fooj.k dks i<+us vkSj fizaV djus ds fy, 

C++ esa ,d izksxzke fy[ksaA 
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Write a program in C++ to read and print students details using class 

& object. 

26. 100 vkSj 200 ds chp ds lHkh iw.kkZadksa dh la[;k vkSj muds ;ksx Kkr djus ds 

fy, C++ esa ,d izksxzke fy[ksa tks 9 ls foHkkT; gSA 

Write a program in C++ to find the number and sum of all 

such integer between 100 and 200 which are divisible by 9. 

 

 

 


